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7 80 1, 392 80(1) 100%
8| 80 259 80(3) 100%
9| 80[ 10 327 391 80(2)[10(1)| 100%| 100%
10{ 80| 10| 160(10)|38(1)| 80(2)| 9(0)| 100%| 90% 6(57| 15 1]10]89
11| 80| 10| 343(20)|59(2)| 80(6)|10(0)| 100%| 100%| 16| 18 10{ 42] 20| 3] 10|85
12| 80 10| 226 (11) | 77(1)| 82(3)|10(1)| 103%| 100%| 16 11 13 48| 21| 2| 5[89]11]14
13 80| 10| 175( 9)|84(4)| 82(3)|10(1)| 103%| 100%| 16| 13| 4| 6] 10] 65| 9] 2 1|87 8|10
14] 80[ 10| 211(10)[85(4)| 80(4)|10(1)| 100%| 100%| 16] 13| 4| 3| 9| 59( 17| 0] 0|85 6] 6
15| 80] 10| 258(22)160(4)| 80(2)|10(0) | 100%| 100%| 16 9| 4| 3| 6|72 9| 1| 6]94|12|15]3]3
16| 80] 10| 235(18)|46(1)| 80(4)| 9(0)| 100%[ 90%| 16| 8| 4| 2| 10{61| 7[ 1| 1|80]|12[12]2]2
17] 80] 10| 234(33)|57(1)| 83(6)|12(1)| 104%| 120%| 16{ 10| 4| 3| 9|59| 11 of 4|83] 9| 9[o0]o0
18] 80 10| 163(17)|41(2)| 81(3)|10(1)| 101%| 100%| 16| 15| 4| 2| 13| 63| 9| 1| 1|87| 7| 8[3]3
19] 80| 10| 242(31)|38(1)| 80(6)|10(0)| 100%| 100%| 16| 14| 4| 1| 6|65 5[ 6| 2|84|10[11f0]0
20| 80[ 10| 213(24)|20(2)| 81(8)[10(1)| 101%| 100%| 16| 12| 4| 2| 5|63| 6| 8| 1|83[10]11| 1|1
21| 80l 10] 193(12)|16(1)| 80(3)| 7(0)| 100%| 70%| 16| 8| 4] 3| 13|61] 6| 7| 4|91| 6| 6| 0|0
22| 801 10| 251(26)|28(5)| 81(6)| 8(3)| 101%| 80%|16{ 14| 4] 2| 12| 59| 8| 1| 5[85] 7| 8|11
23| 80[ 10| 229(34)| 19(2)80(10)[10(0)| 100%| 100%| 16| 7| 4| 1|22|55| 6| of 5[88[10l11] 1|1
24( 801 10] 203(28)115(3)| 83(9)| 5(1)| 103%| 50%|16{ 8| 4| 5(20]45] 2| 1| 4|72| 7| 7| 2|2
25| 80[ 10| 181(21)|19(4)| 85(7)| 2(0)| 106%| 20%| 16| 8| 4| 3|123|43| 2| 1| 1|70 5] 6[1f1
26| 80[ 10| 215(26)| 15(1)| 83(7)| 2(0)| 103%| 20%| 16| 4| 4| 2]22]50| 2| 5| 0|79 4| 5|0f0
27( 80] 10| 172(24) |1 16(6)| 81 (9)| 4(2)| 101%| 40%|16[ 2| 4] 2(20]56] 4| of 2|82| 4| 6| 0f0
28| 80| 10| 274 (28) [zakezi| 85(7)| - | 106%| - |16]| 6| 4| 1|23[45| 13| 1| 3[85] 3| 3[of0
29| 80[ 10] 196 ( 8) [zte1[ 85(2) 106%| - |16| 5| 4| 1| 16]|54| 6] o] o] 76| 6| 6]2]2
30| 80| 10| 185(12) |#=e1l 85(5)| — | 106%| - |16| 6| 4] 1| 17|52] 7| of 3|79] 2| 2|of0
s
RS 80[ 10| 212( 8) [zesi=w| 85(4)| - | 106%| - [16] 5| 4| 1| 17[53| 8| 5| 2[85 7| 7| 2|2
2| 80[ 10| 196 (10) [szse=i| 85(3)| — | 106%| - |16]|13] 4| 3] 14| 53[ 12| 0| 7|86 4| 5/0]0
3] 80] 10] 210( 8) |sz=i| 85(0)] - | 106%| - [16] 2f 4] 5]20{ 44| 13] 1] 5[83[ 5] 5[ 1]1
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